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Recall: A quadratic function in vertex form can be expressed by:

y=a(x-p)*+q

Y=o

Ex. #1: Graph the equation|y = 2(x + 3 2
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Ex. #2: Graph the equationy = -(x - 1) + 1 gn the grid below and

answer the following questio
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Ex. #3: State the equation in vertex form for the g1ven graph.

y@(fS)rL-t’L‘f: - b’l<’>‘+5> tZ

1 becarse ik is not
statdned of S%WKS\?C

4 becquse Y has
éme T uap.
Ex. #4: State the equation in vertex form for the diven graph.




Ex. #5: For the function f(x) = -2(x -I-\(B)2 11 determine each of the
following, without graphing.
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